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Topic:- Child Development & Pedagogy (CDP)

1) A layperson’s understanding of Reinforcement and Punishment are different from those used

in . | T 3TH 31SH B g 3R qUs P AN SHA YUH e &l § wgad et 2l
1. Operant conditioning / fohdT URId 3ae (3TURC e =If-T)

2. Sign learning / Hobd SIFEATH (A2 @A)

3. Classical conditioning / 3 Terd SfohdT Sae (FTTRIhd o =IT=)

4. Social learning / ATHTRSTS TR (FI=TA S(T)

Correct Answer :-

» Operant conditioning / mwm &Iﬂa?Ff (Gh'cﬁ_cf CRINIER )}

2) Separation anxiety is considerably reduced in the child by the age of: / 9= &I A Mg @i &
U9 TR AT SgBAl HIB! HH gl S o:

1. 1-2 years/ 1-2 CL
2.2-3 years/2-3 dY
3. 3-4 years / 3-4 EL

4. 4-5 years / 4-5 CL

Correct Answer :-

e 3-4years/3-4 G

3) What do IQ test measure? / §f3 af(3Msay) H FT WIUT 14T 8?2
1. General intelligence / T FfGHdl

2. Specific abilities known as S factor / TH hR$ F IR W 71d fAfRy giwan
3. Logical and linguistic intelligence ) dTfep 3R HToTS T';1,'@'14?1'[

4. Emotional intelligence / HTa-T&® JfGHdl



Correct Answer :-
+ General intelligence / ST §fGHT

4) Which of the following is not a personality projective method of measurement? / Fafafaa o
Y - 117 B TP afere vandt faftr 78 32

1. Inkblot Test / Sehscilc TRI&IOT

2. Sentence Completion Test/aquﬁ&m

3. Thematic Apperception Test/ﬁwwqﬁ&lm
4, Physical Test / YRING Tieo

Correct Answer :-

 Physical Test / QRING tIﬂ&l'UT

5) Which of the following is NOT a learning theory? / fafafeada P-4 Udh 3R 31 Rygia
T 82

1. Conceptualism / GUIITAIG

2. Behaviorism / ddglRdlq

3. Cognitivism / GJMTHDAIG

4, Constructivism / XIATHD ATAIq

Correct Answer :-

« Conceptualism / HHIITATG

6) Students should be engaged in the process of learning as a that relates subject
matter to problem-solving skills. / ST @1 fT ot uftear o & U # G g1 91ieT ot
TURT-JAAH & B & fawg F T&fta g1

1. communication experience/ TR BT SIHT
2. contextualized experience/ Ui STIHd
3. task experience/ Eap| 3{JHd

4. collaboration experience/ SRR 3{JHd

Correct Answer :-

« contextualized experience/ TS STIHd

7) Choose the theorist whose theory talks about teaching machines and a programmed learning
system. / 39 RIGTAPR &1 997 B oyt Rigia Rreor we iR g1 Siftnry yomedt & way &
qarar g1



1. W. Kohler/gﬁ.aﬂ@
2. B. F. Skinner /@[WW

3. Pavlov / UTddId
4, E. Erikson /% Efﬁl_cﬂlq

Correct Answer :-

o B.F. Skinner /@W@‘Fﬂ

8) Creativity characteristics is: / Wﬂﬁ ﬁxﬁm %:
1. Photographic memory / TIcHiTthe i
2. Divergent thinking / IREKIES

3. Introvert / G'I?ﬁfi@
4. Fast learning / dtdl S{TERTH

Correct Answer :-
« Divergent thinking / IREKIIE

9) The inclusion of children with disabilities in classroom is now a worldwide trend. /

o Rt aw @1 Wi S 39 T g wee 2
1. Special / faf¥ry

2. Mobile school / TTicIRitel faeTerd ot

3. Regular / T

4. Flip / Toeg

Correct Answer :-

e Regular /ﬁlﬂﬁ?‘f

10) The development stage in Erik Erikson’s theory which occurs from 1 to 3 years

is ] T IRNFIT P Rigid d e Ru st 1 A3 g dF glar g a8 gl

1. Identify vs. identify diffusion / UgdM §H YR &I GgaH
2. Autonomy vs. shame / XdTITdl dTH e
3. Trust vs. mistrust / TOYTT 919 3ffaymy

4. Tnitiative vs. guilt / T8 ST 3ORTY Y

Correct Answer :-

« Autonomy vs. shame / TaTIRIAT &9 T



11) According to the Psychosexual Developmental Theory, the basic instincts are found in the

_ . uiafe e Riga s ogar, gaughmi A ud ardt 8
1. Unconscious / 3fId

2. Conscious / =l

3. Subconscious / 3fa<id

4. Superconscious / URH EhRl

Correct Answer :-

« Unconscious / 3/Edd

12) Cognitive development does not study . | ST faer BT AT gl Bl
gl

1. Problem solving / JHXT IBEIRYI
2. Memory /F:jﬁl

3. Language / HINI
4. Relationships / Rt

Correct Answer :-

» Relationships / Redl

13) The importance of play in education was mentioned by ./ FRre o @d & Hegd B
_____ gRIIcitad far war o

1. John Locke/ SIi-I dlics

2. Aristotle / 3RYJ
3. Plato / Wicl

4, Socrates / hId

Correct Answer :-

« Aristotle / 3X¥]

14) Affective domain of learning is characterized by aspect of our behaviour. / ST

P YT U4 TAN AR & UES KT afofd gier 81
1. leaming/m

2. Feeling / \’rl_';[“-ﬂ%f



3. Thinking / fdaR A
4. Doing / WW

Correct Answer :-

+ Feeling / G‘Iﬂlﬂ%[

15) ICT can increase in inclusive education. / W[a"\’ﬁm&ﬂ s Gﬂ'&;?ﬂ'cﬂ
g IFdl gl

1. all of these / SURIGRT T

2. Access only / Had QEV?J

3. Equity only / had JHT
4. Efficiency only / Had G&fdl

Correct Answer :-

o all of these / IWRIad It

16) What is the term used to denote the organized bodies of information that affect how we store,

interpret and process new information? / m%mﬁwﬁﬁﬁ%ﬁmﬁ%mmw
BT TN fHaT STaT 8 S §HR 715 AT & TIE, ARSI 3R Ufhar &1 gutfad &edar 32

1. Seriation / P HIZ T

2. Stressors / d-Tddh

3. Schemas / U (Wb 1HT)
4. Semantics / Trearef

Correct Answer :-

« Schemas / FUXET (K IHT)

17) What is the term that is used to denote the process of retrieving a specific item of information

from memory? / {6 g T ITANT T A G & TP (AR 3M5CH B UTd B B Ufehar ot
frefia w31 & e fear wrar 82

1. Recognition / GRIH
2. Retrieval cue / G-IV Hdbd
3. Recall / UATHRIT

4. Restructuring / TF'T’(FI

Correct Answer :-

e Recall / YA



18) What is a characteristic of a child suffering from ADHD? / TSTae! § Wifga o= &1 @eor oam

T g?

1. Motor problems / BRIty

2. Speech deficits / CIGECAREEI]

3. Intellectual disability / SIfGe fadmarTar

4, Inattention / SIdYUTT

Correct Answer :-

 Inattention / 3{-dYUT

19) What kind of personality trait is most commonly associated with being outgoing? /

3r3ems (T & for avg &1 afeac o1 Gatfie v & GrHE=d: JST1 g3 82
1. Extraversion / Eﬂ%—@@—cﬂ
2. Introversion / &ratjam

3. Depression / 3{dHIq
4. Neuroticism / F=ITEIdT

Correct Answer :-

« Extraversion / Eﬂ%%?ﬂ

20) What is 16PF (Raymond Cattell’s)? / @ﬁ%’ Fed a1 )16PF HIT 82
1. 16 Perfectionism factors / 16 U}f?l'l’d’l?? DPRH

2. 16 Personality failures / 16 SHfeRTaTc SrAherd

3. 16 Personality factors / 16 HiRAIS] RSB

4. 16 Personal facts / 16 SfadTd d

Correct Answer :-

» 16 Personality factors / 16 KIS HRD

21) To develop critical thinking among children, the teacher should give the students a lot of : / |

H ggayul Wi e 31 & e, Riere & ol @ sl CRIE Y
1. Lectures/ I

2. Assignments / Uad Eap (31ETgHT)
3. Notes / fewforgi



4. Impositions / SR

Correct Answer :-

o Assignments / Yad Oblif(&l%ll‘édal'C)

22) Sternberg’s components of intelligence did not include : / THT & §'@ & gep! | A= =nfire
BT T:

1. Analytical intelligence / fazayuTa S §@
2. Fluid intelligence / Sd 3RIET b5 (RS Scicrod)
3. Creative intelligence / T Jfe

4. Practical intelligence / TGRS Ffx

Correct Answer :-
« Fluid intelligence / &d 3RLE 5% (RIS Sciarord)

23) How can a teacher practice intrinsic motivation in the classroom? / WQT&W P H SATaR®
TRUM BT SHWATH S T THdT 52

1. Set class policies and rules to control the class discipline. / P& & SR &1 (A A & forg
& it 3R Fram FeiRd B |

2. Set high goals and make them practice to achieve high grades./ 3= ¢1&d fufitd o SR I SH VS
Tt R b fog 311 T |

3. Allow students to choose their tasks and work by themselves. / BT BT 3T BT BT T B 3R

G BT B DI STAM SR

4. Allow students to make choices and hold them accountable for the consequences of their choices. / S

& TdIE] fadmed g 3R I ST Ulig & URUIHT & folu S/areeg - & Sfd Sa|

Correct Answer :-

» Allow students to make choices and hold them accountable for the consequences of their choices. / EIE]]

oI THdIEl famed a9 3R 3 3! Thig & URUIH! & Tt SaTaeg Xa- &1 i gax|

24) Through which mental activity is available information transformed to conclusion. / T ATfRI®

T3t & AT ¥ Iuasy TSR o ey & RFaRd fearsmars |
1. Thinking / fid=

2. Problem solving / JHXT FHTYT

3. Reasoning / G2

4. Motivation / DRUTT

Correct Answer :-



e Reasoning/ GEY

25) Which part of the memory is the clothes you wore on your wedding day stored? /Wﬁf?ﬂﬁ?—'\‘ﬂ
YT 3TY GRT S & & U5+ T $us Ft Wfa B Sugha axar g2

1. Autobiographical memory / THBUTHSD Hfd
2. Declarative memory / UYUTHS Fﬂﬁl
3. Procedural memory / UfehaTcdd F—Iﬁf

4. Participative memory / ?I’ﬁ"-‘-ﬂ"'ﬁ@j%

Correct Answer :-

» Autobiographical memory / SITHBYTHD Wﬁ

26) Which of the following hinders learning the most? / fFrafafeag 4 9 w1 999 eiftre siftrma o
YT STl 32

1. Competition/ PIRRIITIGI]
2. Noise/ Qﬂ?
3. Boredom/ Galg

4. Fatigue/ YhIq

Correct Answer :-

o Boredom/ Galé

27) Which of the following is a secondary sexual characteristic that develops in females during

puberty? / FafifEa & @ H19-30 ve Mo 9= fa=ivar 3, St das & R afgarsi § fefiia gidt 32
1. Development of the ovaries / 3SR &1 fdHT

2. Menarche / ISITG2

3. Growth of body hair / SRR & STl BT T

4. Deepening of voice / 3TdTS BT TTERT IHT

Correct Answer :-
« Growth of body hair / IRR & STQ! BT T

28) Which of the following is a parenting style characterized by low warmth and high control? / IBE]

# ¥ D9} re-aivor el i I e R sifires i Y faRiwar 37
1. Permissive parenting style / SJ3THD TTe-TyoT et
2. Authoritative parenting style / SMFABTRG UTA-Te0T Rreft



3. Authoritarian parenting style / HfEDHRATE! UTeT-UTooT il

4. Aggressive parenting style / 3ThTHdH PIRERVINUAN]

Correct Answer :-

« Authoritarian parenting style / HfYHRAT TTE-are Qe

29) The famous physiologist who introduced the concept of reinforcement and was the first to apply

psychological principles to the area of learning. / dg uRrs IRR-foran fagrit (ﬁ)‘ﬁrﬂﬂm foreiq
A RABIIHT) BT TURCN YRaTfad @1 3R 3 & &7 # gdgi=e Rigidl @) ary & ard
U5 safad o

1. Edward Thorndike /Q?:TJI_S; Hﬁ@'l%?
2. Wolfgang Kohler / BT BIGR
3. Jean Piaget / ST oSt

4, Tan Pavlov / saﬂma?ﬁa

Correct Answer :-

« Edward Thorndike / TSdS YHSS®H

30) Which of the following is NOT a form of misconception? / ﬁ'ﬁﬁ'l'@'ﬂ A T Ted YR =ré’r%‘>

1. Non-scientific beliefs / sﬁmﬁm H=Idd

2. Cognitive conflicted ideas / %ik‘ll"lld-ldO ISP ﬁﬁﬁﬂﬁﬂﬂ
3. Preconceived notions / U@fﬂ’&ﬂ ICEIN

4. Vernacular misconceptions / HIGHTHT oy §@

Correct Answer :-

« Cognitive conflicted ideas / HTHD TRER faRIeh fdaR

Topic:- General English(L1GE)

1) Fill in the blank with the correct option in the given sentence:
The memor-- of child-- days are amazing!

1. --ren ... --ish

2. --ial ... --hoods

3. --ies ... --hood

4, --y ... --ren



Correct Answer :-

e --ies ... --hood

2) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the
toothbrush have been in existence since 3000 BC. Ancient civilizations used a "chew stick,"
which was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The
bristle toothbrush, similar to the type used today, was not invented until 1498 in China. The
bristles were actually the stiff, coarse hairs taken from the back of a hog's neck and attached to
handles made of bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours.
The first nylon toothbrush was called Doctor West's Miracle Toothbrush. Later, Americans were
influenced by the disciplined hygiene habits of soldiers from World War I1. They became
increasingly concerned with the practice of good oral hygiene and quickly adopted the nylon
toothbrush.

Why were early toothbrushes most likely called "chew sticks"?
1. Because people chewed on them to help clean the teeth

2. Because people chewed them after using them

3. Because they tasted better when chewed

4. Because they were chewed on by animals

Correct Answer :-

» Because people chewed on them to help clean the teeth

3) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the
toothbrush have been in existence since 3000 BC. Ancient civilizations used a "chew stick,"
which was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The
bristle toothbrush, similar to the type used today, was not invented until 1498 in China. The
bristles were actually the stiff, coarse hairs taken from the back of a hog's neck and attached to
handles made of bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours.
The first nylon toothbrush was called Doctor West's Miracle Toothbrush. Later, Americans were
influenced by the disciplined hygiene habits of soldiers from World War II. They became
increasingly concerned with the practice of good oral hygiene and quickly adopted the nylon
toothbrush.

Which statement best explains the author's view of early forms of the toothbrush?



1. They weren't very hygienic
2. They helped keep teeth clean
3. They cost little to make

4. They were extremely innovative

Correct Answer :-

o They weren't very hygienic

4) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the
toothbrush have been in existence since 3000 BC. Ancient civilizations used a "chew stick,"
which was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The
bristle toothbrush, similar to the type used today, was not invented until 1498 in China. The
bristles were actually the stiff, coarse hairs taken from the back of a hog's neck and attached to
handles made of bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours.
The first nylon toothbrush was called Doctor West's Miracle Toothbrush. Later, Americans were
influenced by the disciplined hygiene habits of soldiers from World War II. They became
increasingly concerned with the practice of good oral hygiene and quickly adopted the nylon
toothbrush.

What can you infer about the nylon toothbrush?
1. It originally used animal hairs.

2. It worked better than any toothbrush before it.

3. It was very popular when it was invented.

4. It was cheaper than previous toothbrushes.

Correct Answer :-

[t worked better than any toothbrush before it.

5) Read the passage carefully and answer the question that follows:

The toothbrush as we know it today was not invented until 1938. However, early forms of the
toothbrush have been in existence since 3000 BC. Ancient civilizations used a "chew stick,"
which was a thin twig with a frayed end. These 'chew sticks' were rubbed against the teeth. The
bristle toothbrush, similar to the type used today, was not invented until 1498 in China. The
bristles were actually the stiff, coarse hairs taken from the back of a hog's neck and attached to
handles made of bone or bamboo.

Boar bristles were used until 1938, when nylon bristles were introduced by Dupont de Nemours.



The first nylon toothbrush was called Doctor West's Miracle Toothbrush. Later, Americans were
influenced by the disciplined hygiene habits of soldiers from World War II. They became
increasingly concerned with the practice of good oral hygiene and quickly adopted the nylon
toothbrush.

Based on the passage, what is the meaning of the word bristle?
1. An animal hair used to make a brush

2. A part of a hog

3. The stem of a toothbrush

4. A special toothbrush

Correct Answer :-
e An animal hair used to make a brush

6) Fill in the blank with the correct option in the given sentence:

Hundred grams is also known as --gram.

1. hecto--
2. deca--
3. centi --

4. cento --

Correct Answer :-

e hecto--

7) Choose the appropriate synonym for the highlighted word in the given sentence.

The rich should not despise the poor.
1. Find fault

2. Punish

3. Criticize

4. Loathe

Correct Answer :-

e Loathe



8) Which of the following options best combines the given sentences?

She is the girl. She is intelligent. She is hard working.

1. She is the girl whose not only intelligent but also hard working.
2. She is the girl who's intelligent but also hard working.

3. She is the girl who is not only intelligent but also hard working.

4. She is the intelligent and hard worked girl.

Correct Answer :-
« She is the girl who is not only intelligent but also hard working.

9) Choose appropriate articles for the given sentence:

blowout is oil well accident.

1. No article required ... No article required
2. No article required ... No article required
3.The ... a

4, A..an

Correct Answer :-

10) Choose the appropriate option that rewrites the given sentence in its passive voice.
We have finished approximately half of the report.

1. Half of the report approximately have been finished by us.

2. Approximately, half of the report has been finished (by us).

3. Approximately, half of the reports have been finished.

4. Approximately, we have finished half of the report.

Correct Answer :-
» Approximately, half of the report has been finished (by us).

11) Choose the appropriate option to convert the given sentence from direct speech to indirect
speech.



He said, “I will finish this work tomorrow.”

1. He told that he would finish that work tomorrow.

2. He was confident of finishing that work that day.

3. He said that he would finish that work the following day.

4. He expressed his willingness to finish the work the next day.

Correct Answer :-

* He said that he would finish that work the following day.

12) Choose the appropriate option to complete the given sentence:

I didn't have trouble getting the passport.
1. several

2. any

3.no

4. much

Correct Answer :-

13) Choose the appropriate tenses to fill in the blanks in the given sentence :

I not able to enjoy my trip to the hill station as I fever and to take rest.

1. am, have, was
2. will, have, are
3. was, had, had
4. did, have, were
Correct Answer :-

« was, had, had

14) Choose the appropriate antonym for the highlighted word in the given sentence.

I have to hide my head in shame and admit that I lied to my best friend.



1. Conceal

2. Reveal

3. Outburst

4. Camouflage

Correct Answer :-

o Reveal

15) Choose the appropriate conjunction for the given sentence.

I do not know he will come home today not.

1. both....and

2. whether.... or

3. neither.... nor

4. Not only.... but also

Correct Answer :-

o whether.... or

16) Choose an appropriate modal for the given sentence:

When I was much younger, I walk long distances.

1. could
2. will
3. may

4. can

Correct Answer :-
» could

17) Choose the option that best explains the highlighted expression:
The public opinion was that some insiders had a hand in the bank robbery.

1. to have a share

2. had finger prints



3. knew the outsiders

4, to be involved

Correct Answer :-
« to be involved

18) Read the sentence carefully and choose the option that has an error in it:

The prisoner do not like to be punished.

1. do not like
2. to be punished.
3. The prisoner

4. No error

Correct Answer :-

« do not like

19) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real
games under their belt and that means that the Inside the NBA team of Charles Barkley, Shaquille O'Neal, Kenny
Smith and Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious
moments from their studio in Atlanta. With that team back in full swing, NBA fans were treated to one of their
show's weekly traditions following the matchup between the Milwaukee Bucks and the Golden State Warriors on
Thursday night as Shaquille O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and
it was filled with plenty of well-known names, as well as some lesser-heralded players, making slightly less than
spectacular plays.

What is Charles Barkley, Shaquille O'Neal, Kenny Smith and Ernie Johnson back at doing this
season?

1. Following the match between Milwaukee Bucks and the Golden State Warriors
2. Treating their fans to their studio in Atlanta
3. Backing NBA league’s 30 teams during the 2018-19 season

4. Providing basketball fans with hilarious moments

Correct Answer :-

» Providing basketball fans with hilarious moments



20) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real
games under their belt and that means that the Inside the NBA team of Charles Barkley, Shaquille O'Neal, Kenny
Smith and Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious
moments from their studio in Atlanta. With that team back in full swing, NBA fans were treated to one of their
show's weekly traditions following the matchup between the Milwaukee Bucks and the Golden State Warriors on
Thursday night as Shaquille O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and
it was filled with plenty of well-known names, as well as some lesser-heralded players, making slightly less than
spectacular plays.

What is the name of the TV show based on basketball mentioned in the passage?
1. Atlanta

2. Milwaukee Bucks

3. NBA regular season

4, Inside the NBA

Correct Answer :-

o Inside the NBA

21) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real
games under their belt and that means that the Inside the NBA team of Charles Barkley, Shaquille O'Neal, Kenny
Smith and Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious
moments from their studio in Atlanta. With that team back in full swing, NBA fans were treated to one of their
show's weekly traditions following the matchup between the Milwaukee Bucks and the Golden State Warriors on
Thursday night as Shaquille O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and
it was filled with plenty of well-known names, as well as some lesser-heralded players, making slightly less than
spectacular plays.

What does the phrase “season is off and running” imply?
1. The NBA basketball season is postponed

2. The NBA basketball season is due next year

3. The NBA basketball season is cancelled

4. The NBA basketball season is ongoing

Correct Answer :-

o The NBA basketball season is ongoing



22) Read the passage carefully and answer the question that follows:

The 2018-19 NBA regular season is off and running as each of the league's 30 teams has had a few weeks of real
games under their belt and that means that the Inside the NBA team of Charles Barkley, Shaquille O'Neal, Kenny
Smith and Ernie Johnson are back at it as well and they have already provided basketball fans with hilarious
moments from their studio in Atlanta. With that team back in full swing, NBA fans were treated to one of their
show's weekly traditions following the matchup between the Milwaukee Bucks and the Golden State Warriors on
Thursday night as Shaquille O'Neal shared the latest edition of Shaqtin' A Fool during the 2018-19 campaign and
it was filled with plenty of well-known names, as well as some lesser-heralded players, making slightly less than
spectacular plays.

According the passage, the studio is located in
1. Atlanta

2. Golden State

3. China

4. Japan

Correct Answer :-

o Atlanta

23) Choose the right tag:

You just can’t get on with your friends,_ ?
1. could you

2. couldn’t you

3. canyou

4. do you

Correct Answer :-

e canyou

24) Choose the correct option to fill in the blank in the given sentence:

Our city will have university soon.
1. the

2. an



3. no article

4. a

Correct Answer :-

25) Choose the appropriate tense to fill in the blank in the given sentence:

Have you heard the news on flood?

Yes, I have. 1 it just 10 minutes back.

1. will hear
2. heard

3. am hearing
4. has heard

Correct Answer :-

e heard

26) Choose the appropriate preposition for the given sentence:

A simple bed felt luxurious ____ a weeklong trip.
1. after

2. with

3. for

4. on

Correct Answer :-

o after

27) Choose the most suitable pronoun for the given sentence:

Ms. Sandra decides students’ grades according to test score.

1. his ... her



2. their ... her
3. her ... her
4, her ... their

Correct Answer :-

e her ... their

28) Fill in the blank to complete the given sentence:

When you arrive at the place you by our men. They will take you to the exact place.
1. will meet

2. are met

3. will be met

4. will have met

Correct Answer :-

o will be met

29) Choose the option that substitutes the given phrase appropriately.
Long and complicated series of events

1. Saga

2. Historical

3. Poignancy

4. Legend

Correct Answer :-

30) Choose the right tag:

He didn't recognize me, ?
1. doesn't he

2.isn't he



3.isn't it
4. did he

Correct Answer :-

. did he

Topic:- General Hindi(L2GH)

1) 3T FERT, eReAT S0+, B Relt F are
T AR THG, 7971 SHH S8 |
-G & R olil, A9 $T Agd quiil,
T HeaT, Tt S F g Rig wwa-
Ay B g @t |

TH HI g6 ol &I, STt JHar a9 &,
T4} iy & 7T uga $ sfted &1 s[gHTa-

A TR TG |

-4t T AR TR, YIS HAT SR,
Y Id & ¢ s &t aRi @Y =re-

T NS ST | AT R TG |
IuYed U= B) Ugh? 19 UD T Uy P IR 9133
TR - - T IR ST BT T A g2
1. TS0 RO BT

2. YT B T8H H|

3. A Id Bl
4. 99 @I g

Correct Answer :-

. TS gE EHl

2) AN TR, YR 0N, 77 wRet F A
T YR FHIEA, 99T S99 S48 |
-G & R olil, A9 $I Agd qoiil,
T HeT, Tt S F g Rie wwa-
HHY BI I1E fe@md |

TS HI gH Sdl B, HI FHAT 7T B,



T Ny & fore ugs # Siia= &1 sraHTa-

A ER HATET |
-8 ¥ Iav e, Gt HHAT SRATE,
%Y gd & fag gga <7t ari 3t 91d-

T NS ST | AT R TG |

ST TR DI UgH 1 YD T U HT 36 Jarsd:
U< - fPA gom &) 910 & Fg W/ 82

1. a¥

2. HI[dH

3. HIFqdT

4, Hgd

Correct Answer :-

3) 30 ERI, YR U, 9 eRA F A1

T TR ST, 7T SHH 18 |

@l & TR oI, Wra HY Aed g,

T HeuHr, Tt a1 g forg w=a-

qHY $I 5 fe@ndt |

TP DN g4 Sd1 B, JIa o1 THAT Y,

Tt Uty & T ugs o Sfia= & SraHTa-

Al IFR AT |

Y gd & forg 9qa 7 arRY &Y <1e-

T YIS SHIE | T SR TG |

ST U= F UgH A2 U 7T UY T 30 I133:
WH- ST D1 TH HP HId [5d Hia= BT TG R 61 82
1. HIaT 3R Hall

2. 7Y 3R AT

3. TSl 3R HISART

4, JHAT 3R THdT

Correct Answer :-



o THAT 3R HAHAI

4) A FURT, eRelt 30+l 79 Rt F
T TR ST, 74T SHH S8 |
@yl & R G, AT B Agd goil,
T HeueT, Tt A ) g forg w=a-
HHY $I 5 fe@ndt |

TS B gH ST B, 7 GHaT 7Har o,
T Uty & T ugs o Sfa= & srawTa-
I TWIBR AT |

Y Ud & forg 9qe 7 aRY &Y =1a-

T YIS ST | T HER TG |
ITYed UL &1 Ugh? 1 YD T UY BT IR 9153
w=A- 5T ypR w9 &1 g feangi
1. THA ABI

2. OYHIII YgdhR

3. HRT dqh

4, TIGR HATH

Correct Answer :-

o HRIT IqhI

5) &% EURT, tRT U, BH Rt & A
T TR AT, 7T SHH 18 |
GE-¥qul & TR Yol A $1 Agwd g,
T HeuHT, Tt A ) g forg w=ma-
qHY $I 5 fe@ndt |

TS B §H Sd1 Y, WA FHaT gHdT B,
Tt Uty & T ugs o Sia= & SaHTa-
Al IFR AT |

%Y d & fQ 9qa &t ari @t 91a-

T YIS SHIE | T SR T8 |



SUYF U D1 UGHT A1 I T YY BT IR Ta1g4:

W=- B Sita #) sraure feas g vg & Rie we e
1. SAdT

2. W

3. A5 Uy

4. qHY

Correct Answer :-

. TRUY

6) O FHRT, YRT S(U+1, §H URelt & Ard

T HAR THIG, T ST T |

TGl & @R Joil, AG B AgTd goi,

Tt BeuAT, Tt A9 Bt 59 fg w=e-

Y $1 T fe@ndt |

TP BN g4 a1 B, Ja o1 THAT Y,

Tt dtey & g ugs w Sfas & srawTa-

A IR FAE |

Y 79 & g e 37 arY i =m-

AT YIS TG | T R S |

ST UL Y UgHR 1 I T UY HT IR qa13d:
WH- ‘G &1l ARI Bt ITer & FHid BT HIT aTeqd 82
1. I Bt UGHd G G|

2. 3{UAT U gadl G|

3. IR §Gd G|

4. el 1 &Y g&d ¢l

Correct Answer :-

o 3TAT U g&d |

7) X1 TURI, SRl 30, §9 ¢Rell & a1
T SR FHTE, 99T S/ 4168 |
-G & TR o), 9T B fged guil,



Tt Heu1, T4t AdHT B1 g forg HRIme-

Y Y g feand |

TSP DI gH SdT B, T GHAT THAT I,

Tt dtey & g ugsT wx e &t srawTa-

A IER FAE |

Y g9 & e sg §7 ari &t =ra-

T YIS AT | T HER S |

IUYed TEIi< &1 Ugdh? ) YD ¢ UY BT IR 9153
U%H- 59 iaar A 9 frd fore ure® &1 smargT #v w1 e?
1. 47 B & ferw

2. R YURA & forw

3. WR ieM & forg

4, ORad & forg

Correct Answer :-

. URadq & forg

8) <X THRI, YR (U, 9 URell & &

T HAR ST, 7T SHH S8 |

FE-TW & TR [, AFG $ A gE,

T HeuT, Tt A ) g forg w=a-

HY BI 5 fe@ndt |

TP B3N g9 Aal Y, JR o THar 6,

T iy & T g &Y Siiaq & SaHT-

S IR 7T |

Y qd & forT ser 37 aRi 1 <re-

T YIS ST | T HER S |

IUYed Ui &1 Ugh? ) YD T UY BT IR 9153
W=- 39 Bfaar & g o & @ -ar 2ide sfra g
1. AR &1 A1

2. BH &Rt & &

3. 4Rl W g



4, RO T ST

Correct Answer :-

. BH R b A

9) ST FHRI, YR (U, 9 4Rl & &
T TR ST, 74T SHH S8 |
@l & @R G, AT B Agd goil,
Tt e, T4 A1 Bt 89 e w=ma-

HHY BI 5 fe@nat |

TS HI gH ST B, =) GHaT aHar &,
T Uty & T ugs o Sfa= & SraHTa-

I BN AT |

Y qd & forQ st 37 AR} 1 =1

T YIS TG | T R S |
IUYed UL &1 Ugh? ) YD T U BT IR 9d153:
U=H- GRS JIHT TRATE T aread 82
1. 9gd IRT & e

2. e # ymap

3. Wd-wiergHl & wud ofw! gl

4. 9 &1 @ gt

Correct Answer :-

. OI-TEH 8 B 3! g

10) 31 TURT, R U, §H Relt & aTet
T TR AT, 74T SHH S8 |
FE@-waul & W G, AT B Agd goil,
T HeuT, Tt a5 forg w=a-
qHY $I T fe@ndt |

TS HYI §H ST B, =) JHaT 7Har o,
T Uty & T ugs o Sia= & srawTa-
el IER AT |



Y gd & forg gaa &1 ARl #t =ra-

AT WS ST | T SR ST |

ST T P UgHR A UD T U PT IR qa133:
- U1 H MY <Y &1 3 a1 gian 32
13X

2. B

3. 4H
4.g -

Correct Answer :-

11) XM TURT, tRet 3o+, 59 Rl & ot
T HOR TG, 4T ST ST |
@Gl & TR AT, WG B AgTd o,
T Beur, Tt Aa=T ) g forg w=e-
JHY $1 5 fe@ndt |

TS B §H Sd1 Y, WA THAT THAT B,
Tt ey & g ugs o Sfas &t srawTa-
IS R FATE |

Y qd & fore sga it ari o1 are-

AT YIS AT | T AR T |

S UL P UgHR 1 U T UY HT IR qa13d:
- TR & SR fPad W= Paii?
1. 9 3R WY

2. T 3R TOR

3. eRT SR SR

4, TIST 3R el

Correct Answer :-

. J@ 3R @Y

12) 3N TART, eRet 3TN, BH Rt & At



T HUR SH1E, 7971 91 S 13T |

G-l & @R ol AG B AeTd goi,

T} e, Tt A B g g wRITa-

THY B1 IS fe@ndt |

TS B §H Sd1 Y, W FHaT THdT D,

Tt dtey & g ugsT wx Sfaw & srawTa-

A IR FAE |

Y 79 & g e 37 arY 6t =

AT YIS TG | T AR S |

ST UL Y UgHR T U T Uy HT IR qa13:
- Ui & AR 39 Hfaar & <t diep &7 rf war 82
1. =TT dre

2. T4l HeuAT

3. 41 Hfdan

4, 41 Uit

Correct Answer :-

. T

13) 3T FURT, ER< U, §H Relt & a1t

TIT HAR ST, 4T SHH S8 |

FE-TIW & TR [T, AT I AgTd GE,

TR ST, T4t a1 $t g forg wRIa-

Y &Y g feand |

TSP DI gH SdT I, T G THAT B,

Tt dtey & forg ugs wx e &t sawTa-

A IER FAE |

QU Id & forg sqe 3 9 1 =ra-

T YIS TG | T HER S |

ST U= B UgHR A2 U 7T UY T 30X Ia133:
- U U1 H 3MTY Y UG 1 T 3 giar 32
1. 91



2. UTd®
3. foar

4.3

Correct Answer :-

14) < FURT, TRl (U, §H Rt & AT

T HHR SYTE, 47 S99 S8 |

G-l & TR S, e B dged gui,

TR HegAT, T a1 $i g forg wRma-

HY $I T fe@ndt |

TS B §H S1d1 Y, WA FHaT THdT B,

Tt ity & T ugs o Sfas & SraHTa-

IS R FATE |

Y gd & RRre sge §7 ari &t =rar-

AT YIS TG | 7T R a9 |

ST TR P UgHR A UD T U PT IR qa133:
WH- “§H YRl & AT dfea § <arer 1 o v g2
1. {19

2. AR

3. UIdich

4. gdH™

Correct Answer :-

15) SR TART, tRet 3o+, 39 exeft & ot
T HHR SYTE, 97 S99 S8 |
TGl & TR S, T B dged gui,
TR HegAT, T a1 $t g g wRma-
qHY $I T fe@ndt |

TP BN g4 a1 B, Ja o1 THAT Y,



T4t ity & ferg ug= S Siia b1 SigHTe-

I BN AT |

Y qd & frQ st 37 aRi 1 =1e-

T YIS G | T HER T |

ST U= $ UgHR -2 U 7T UY BT 30X Ia133:
- Bid fHad fIT A=Ime 99 &7 3a18= HI W32
1. ST 3R TER

2. g9 3R WY

3. T FeuT 3R Tt AT

4. T TAR 3R 71 $9H

Correct Answer :-

o T HeUAT 3R T I

16) Wﬁ@ﬂl‘g%lﬁwmﬁwmm%lﬁwmw%wﬁﬁwmm?ﬁ%wﬁ
Tddl 8, 39 § 39 wig @1 it waiar 21 99 w7, ik w9 wrelt 9, Tt grard N WG 3T 3R QI g1 81 9
QT U= T WRT A g, @ o SI1g 9@ S| 99 @reft 3, @ R 3t e HE diell BT T 39 9% Ugd
ST | FEf g3 39 99 99 WY 99 df 98 74 fpaat g aran 3! 9y gk 2 98 ot f, 98 o ) wf
HTHH SR SR SRTH Y 917 Il AIGH §1aT 81 IR I8 9d Ig T 3 81 91g &1 Hart Iast f& uar
T ¢ for Bt dieil 31 agarad 3R | Weg 6! o, i @ad g1 STadl g1 dIgT &R WIHIAS T oy
A e oI @ R 599 S ot Rt o5 ok s €1 el 8 | s Wit SR At et i e & vl &
AR & HRYI FT 98 FH THS gRI? TR I ATg $I THS I T9 $1 JYT-A1 UM §1 98 I8 6 IR
STt & @relt 7 7 g U @rell 8, 99 99/R 9 Seit | Fed @ g § o1 8l a) et dieR s anfee ) urt
WiaR 8, G &1 qu= a4 8 91T 31 79 H a89 W1 81 f IR W Yar &1 e g 3§ 9| 99 98 °id
fepa 11 ¢ G, 9P B 3= €1 I 79 TR gHA Fard gH, TP g0 $ 9 70 a1 a9 39
SR | STOIR &Y SrRTeh Parfar B IR dr & THT HTH AT

ITR TR B UG - UD T U o1 37 Jarsd:

UH- TR 4G ISR B FAIgTR Rl AT 82

1. i 3P U I T E

2. s I B free B

3. i SToR H SATIRIS TS WIGaH &I Wfad gl g
4. T BT T IeN 5 |

Correct Answer :-

. Fifh TR H SFTTS axQ Wea™ Pt Ufad gt 3|

17) 9I9IR ® U W1g 8| 98 oG 3G B I BTH HdT 8| 98 ©U BT |lg § U I ga& $1 91g dlg W gt
Tadl 8, 39 § 39 w1g @1 +ft waiar 21 99 w7, iR w9 wrelt ), Tt grara H WG 3T SRR QI g1 81 9
@m’rwmmﬁrs‘r ?ﬁﬂ-ﬁﬂ'@ﬂﬁmlﬂq@?ﬁ% a‘rwaﬁaﬁmﬁﬁiﬁwﬁmﬁnawwwu@



S| 31 g3 39 I O It a9 ot 98 7 fpast A= a1erm 3! HIqH gia1 8 g8 i f, ag ot 1w
A W4 3R IR $I ¢ aTal AIGH a7 ¢ | TR I8 9 o1g $T SRR g1 91g $I HaR} Iadt & ua
Tadr g & Bt Heil 9 sgaraa 3R A "eg 78 A, afcr Twaa 8§ sTard 81 NSt R WHIfa® &) S
A frer Sirar 8 wR 399 fHu ) el 1 3R G & el 81 Srs Wil sR Pt e A wm & =l &
HATIH & HRUT FT 9§ HH APH$ gRI? TR 3 WG BI THS F 9 &1 JIYI-9T IUT g1 98 98 5 e
STt & @Telt 7 7 g U @l 8, 99 99R 9 S18it | dgd @ 9 8 o1 g1 a) et diew s aifee ) uet
R 8), g &1 que = §) wimar 31 79 A 987 w1 91 <t aR oft ar &1 e € ¥§ S 99 98 Ui
fepa 81 ¢ GBI, afer $© 3= & S| 99 IR U Fard ghm, TS g0 $0 1 O I a4 39
IR | IR FY STl Hardar § maRawdar & JHY BTH ST

ST T B Ugh? -9 YD T Uy BT ITR ga133:

U G A o SR SRTH 9¢ 9Tl &9 ATqH gl 82
1. AT & dg|

2. 91 YT 1 3R A9 @it 7|

3. O OH & d1G |

4. T WRT BT 3IR oIS @retl 81|

Correct Answer :-

. S 4 BY 3R T @it B

18) HI9IR A U WG 2| T8 W 1@ P! IE HTH HdT 8| T8 FU BT AT & UR A YI& $T olg dlg UR ot
Terd ¢, 39 € 59 1 F1 ot wafer 81 Sa w8, 3k w9 @relt 8, ¥t grerd # ST $7 3R gE gt 21 S|
QT TR T W1 A g, ) ot g 9@ S| 94 @reft 3, 9@ IR 3 sReHe Al BT i 39 9 ugd
| FEl §3 39 a9 o WY 99 df 98 T fpas! g+ qran 3! arqgd gian g 98 ot f, 98 o §) i
A W31 3R SR $I ¢ aTal AIGH a7 ¢ | R I8 9 oG $T 3¥R g1 91g ST HaR} Iadt & uar
Tadr g & Bt Heil 9 sgaraa 3R A weg 78 A<, afcr Twaa & sTer 81 NSt R WHfae &) S
A frer SiraT 8 WR 399 U ) et 91 3R G 8 el 81 Srs Wil sR St et i W & W=l &
YATIH & $RUT FT 9§ $H APH$ gRI? TR 39 WG B 95 § g9 &1 JIYI-9T IUTF 1 98 98 5 e
SISt < @relt 7 7 g1 T el ), 99 IR 7 el $gd § g H o g at ur fesw st anfge ) aet
R §), g &1 qu = §) wimar 31 79 A 97 W™ 91 <t aeR oft ar &1 S € ¥g S 949 98 Ui
fepa 781 T THM, 9 T 3= & 3| 79 IR gHA Fard g1, TP 0 $° 7 $° T a4 39
IR | IR F 3rTelt Hardar § Maawdar & JHY BTH ST

ST T B Ugh? 19 U T Uy BT ITR gaT33:

wA- Wt e B srftrear fea 9 & waa sTedt 82
1. fiee

2. 3ARM

3. dVIR

4.9

Correct Answer :-

19) 919 ¥ TS 1g ¢ | 98 SI1g 3@ B1 18 PTH Bl g | I§ U $T o1g ¢ W oI 9 &1 91g dlg W o1
Il 8, 39 €t 39 wig @1 +ft waier 81 9wl 71, 3R 7 @Telt g, Tt T H g 371 3R G g1 81 9



Tl U A HRT A g1, ot i SITg I S| /49 @reft 8, a1 96 1 3ABHe diell &1 AHA0 39 d% ugd
| FEl g3 39 a9 o9 WY 99 df 98 T fpast g qran 3! 9™ g @ 98 ot f, 98 o ) i
HTHH SR SR SRTH Y 914 I AIGH §1a1 81 IR I8 U I T SR g1 91g &1 Harkt a3t f& uar
Taar g for Bt Heil &) agaraa e # weg T8 AR, afer Taa & stadt 81 AiSt R WrHIfa® Fi S
A e SI1aT 8 IR 59 U Y R} 1 ok oo 8t el 8 | Ses Wil sRFte i mm s W=l &
YATIH & HRUT FT 98 BT JDS gRII? W I Ag BI 9P S I T94 BT JIY1-171 UM 3| 98 8 F IR
T3t dt @relt 7 7 g1 | O el ), 99 IR 7 sl $gd § g # o g at urh e s afge ue
R 8, g &1 que = 8 wirar 31 79 A @87 w1 @) <t R oft ar &1 Sen € ¥§ S 949 98 Ui
faepa &t ¢ T, 9fcp $© M= & I 99 IR gER Fard g1, FifE g0 70 T 5 T Aty 39
IR | ISR FY 3reh Hardar § Magwdr & JHY BTH ST

IUYe TRIR Y UgH 19 IR 7T Uy BT IR Id133:
- A @l g geTaR 1 &1 3 32

1. O U AT

2. IS B

3. dISIR T Silg Dl

4. Bt A U= 31T

Correct Answer :-

.« IS B

20) SR § U g 3| 98 g 1@ B I8 HTH BT 3| T8 7Y BT TG & W I YI& $T olg dlg U ot
T 2, 39 € 39 g @Y O watar ¥1 Sie wd g, Sk 7 wreht €Y, ¥ grera § oiTg 1 SRR A eaT 2 i
QT U= T W19 g, @t SI1g 99 e | 949 @reft 7, @ IR 3t SAeHE diell BT A 39 9@ Ugd
S| FEl §3 39 99 99 WY 99 df 98 U fpast g qran 3! 9™ gian @ 98 ot f, 98 o ) i
T ¥ 3R AR H 9T aTaT WIGH il 3 | IR Ig 09 SIg BT SRR 81 9Ig B AR Iast fob uar
Taar g for Bt Heil &Y agaraa e # Heg T8 AR, afer Taa & sradt 81 Aigt R WrHifae $i S
A e SI1aT 8 IR 599 U ) Fed) 1 3R e 8t el 8 | Ses Wil sRFte i mm s w=l &
YATIH & $RUT FT 9§ HH S gRil? TR 3 WIg BI THS F T94 &1 JY1-9T IUTF g1 98 98 fF e
W3t dt @relt 7 7 81| 7 el ), 99 IR 7 sl $gd § g # 9 g at ur few s afge ueit
WeR g, g 1 que 3 g1 9I1ar 31 99 § d&7 WRT g1 at g ot ar &1 $ar €Y ¥§ 9e | 99 98 9Id
fSepa 81 & TH, afep $© 3T 1 S| 99 IR U Fard §RM, FifS g0 T 7 O I aTH 39
SR | IR FY 3reht Hardar 8 MagHdr & JHY BTH ST

IUYe TRIR Y TSP 19 IR 7T Uy BT IR Id133:

- guo 3T e’ & Ui & Aread A s 91 GHSIHT 9red 82
1. SR &1 a%] SHR gl 5|

2. SR & O g of o171 91|

3. §T9R | SN0 EIeT 3|

4. IT9R B 79 g1 A G|

Correct Answer :-

. IR Y AMHYU Ear B



STSR # T ST 8| 98 WG 3G 61 I8 HTH HIAT1 g | 98 TU 61 91 § UR J gd&b DI WTg dlg U= gl Ierdl
2, 39 &t 3 oirg @ oft water 31 99 w71, ok 1= et g1, Y g1era A Wig T SRR WE giaT 81 9 @relt
TR AT WRT A gL, <t Y SI1g et SIre | w4 @Tet 8, Y IR B ST el T AT 39 9% Ugd Sig |
Pl g3 99 a9 g U3 9 1 a8 ¥4 fhge) A= aren 8 9rqH giar 8 g8 O , g ot 1| wmeft e s
3R ARTH B I ITAT HIGH §IT 3 | IR g 0 SIg T AR 3| SI1g t AaRT It {5 gar geran g fs Bt
ol Pt Igarad AR | HEg 81 gdl, fep Tad gl STad! g1 AT SR WIYIAS I TR A fae <Irar §
TR 39N U &) it 3 ok Q1o €1 frercht 31 oips Y=mft SR & 81 ot Y= & wu=f & garaw & sro
T 98 FH AP S gh? W I A1g 3 Thg A T H1 W91 IuT9 71 98 I8 5 a9 wiveit o) @reft w91 |
g1 O @1l §), 99 SR 7 WSt Fgd @ g W 91 g At url ) o el urh ofier 8, g &1 que
o1 81 SIraT 8 | 71 § 98T HRT g Y aroiR ot St 1 Bt €1 T8 WTE | 99 9% ura e 6 & g, afew
TS A=< g1 S| T IR g Fard g1, RN g0 $© 7 $© =T A4 I SRT| TR BT 3RIat
Farddr g Maawdr & JTHT BT 31T

ST TR B Ughx -9 YD T Uy BT ITR ga133:
WRA- SF URT FHET A FIT a1y 82

1. SEE B

2. U g

3. SOR 8 &7

4, § 6;|:|
Correct Answer :-

. GHIBH

22) SR § U WG g | 98 g 1@ Bt IE HTH HIdl 8| T§ FU BT ATg 8 R I YI& $T olg dlg UR ot
TAdT 8, 39 gt 39 o1g 3t ot water 81 99 W 8, ok w9 @relt &Y, T g1ad W 9ig T SRR GE gt 81 9
@Tel W A WRT A g, ot Si1g 9 S | 7 @relt 8, @) 9R @1 3ReM diwl &7 (A 39 9% ugd
ST | HEl g3 39 a9 99 U 99 df a8 1 fhaat 9 arar 8! Ay gian @ a8 ot , a5 oft )1 af
A S 3R IR $I ¢ aTal AIGH a7 ¢ 1 R I8 UG o1g $T 3R g1 91g ST HaR} Iast & uar
Taar & for Heft Hieil #Y agarad e # Hee T8 IR, 9 Tad € sTadl g1 ISt R |WIHIf® $i e
A firer Sirar 8 R 399 ifHu ) i) 1 3R gores & el 8 1 Srs Wil sR St et A mm & W=l &
HATIH & $RUT FT 9§ HH APH$ gRi? W 3 WIg &1 95 F g9 &1 JIYI-9T IU g1 98 I8 fh e
STt @ @Telt 7 7 g A QT g, 99 99R 9 S1sit | BEd @ 9 6 o 1 81 a) et diew S el urt
R 8, 9 &1 qua o g 51 31 99 § A&7 WRT 81 @t g ot Bar &1 $ar € ¥§ S| 99 98 Ui
fSepa 81 ¢ TH, afer $© 3= & S| 99 TR U Fard ghm, TS g0 $0 1 O I a14 39
SRt | STOTR B RIeH FarlaT 8 SMazadhdl & THT HTH AT

S TR B Ugh -9 YD T Uy BT ITR gaT33:

UH- g BT qu- Y 81 STl & A WGP &1 7 a1y 82
1. THTaYUT B ST B |

2. YUTAE I 81 STl g |

3. U1 d g1 ST B |

4, T IR A8

Correct Answer :-

. UHGEH 8 ST gl



23) 9N ® U 91g 8| 98 WIg 3G B g BTH BT 8| 98 ©U BT AIg § U 9 gaP BT 91g dlg W 8t
Tadl 8, 39 § 39 w1g @1 +ft waier 21 99 w7, iR w9 wrelt 9, Tt grard N WG $T SR QI g1 81 9
QT U= T 1A g, @t S1g 99 S| 99 @reft 3, @ e 3t SAeH® el BT T 39 9@ Ugd
S| FEl g3 39 99 99 WY 99 df 98 74 fpaat g aran 3! Ay g 2 98 ot f, 98 o ) wf
HTHH SR SR SRTH Y 919 I AIGH §1aT 81 IR I8 9 Ig T 3R 81 91g &1 Hart Iast fo uar
T ¢ fos Bt Jieil 31 agarad 3R | Weg 6! o, Ifes @ad g1 STad! g1 dIgT &R WIHIRAS T oy
A e oI @ wR 99 S @t Rt o5t ofk s €1 e 8| s Wit skt et il e & v &
AR & HRYI FT 98 FH THS gRI? TR I ATg $I 96 I T9 H1 JYT-AT UM §1 98 I8 b IR
STt &t @relt 7 7 g U @rell 8, 99 9/R 9 Seit | wed @ g § o1 8l a) uret dieR s anfee) urt
iR g, 9 1 que o g S1ar 31 99 | d&7 WRT g1 at g ot ar &1 $ar € ¥§ 9e | 99 98 Ui
fepa T8 T THM, 9 O 3= & | T4 TR gAY Pard BRI, TP 7 $° 7 $° T @14 39
SRt | STOIR B 3Tl Parfar B SR ar & THT HTH AT

IUYed TRIRT B UGH 19 IR T Uy HT IR 9d133:

- Treft Hil ot Igarad SR § Heg E) et SHST UdT Ha Iadr 32
1. T b R W

2. OIS JTH g W

3. ISR &1 Wllg a1 WX

4. 9NIR & Hdd 81 R

Correct Answer :-

« SNIR &I 901G SR R

24) 9NR ® TP A1g 8| 98 WG 3G B g BTH BT 8 | 98 ©U BT AIg § U 9 gaP BT 91g dlg W 8t
TAdT 8, a9 g1 39 o1g 3t ¥t 7aier g1 99 W g, iR 7 @relt g, Tl g1ad W Aig $1 SRR Wa glar 81 9
QT W A WRT A g, 4t off SI1g 9 SIen | 7 @relt 8, @ 9R B MBS diul BT (v 39 9% Ugd
ST | FEl g3 39 g9 99 WY 99 df 98 U4 fpaat g qran 31 Ay g @ 98 ot f, 98 o ) wf
HTHH SR SR SRTH Y 917 I AIGH §1aT 81 IR I8 9d Ig T ¥ g1 91g &1 Harkt Iast f& uar
Taar § & Bt Aol It agarad R | dag 81 ¢ot, I Tad g1 STad! 31 YISt X WIUTIA® B oI
T firer oIrar 8 WR 39 SFUHT B el Y i TR € et 81 Sos Wit sk St at Wwm & w=f &
AR & SR FT 98 FH THS gRI? TR I ATg $I THS I Ta $1 JYI-AT UM §1 98 I8 {6 IR
STt &t @relt 79 7 g U @rell 8, 99 SR 9 Seit | Fed @ g § o 1 gl @) uret dieR s anfee ) urt
WiaR 8, § &1 qu= a4 81 91T 31 79 H d89 W1 81 af 9oiR Y Yar &1 e g 3§ 9| 99 98 °id
fepa T8 S THM, 9 O 3= & | 79 TR gHA Pard BRI, TP 7 $ 7 $° T @14 39
SRt | STOIR B 3Tl Parfar 8 Sz dr & THT HTH AT

ST TR B USHR - UD T U o1 I<R Ja1sd:
- AP $d IR 7 A ST IR a1 82

1. g ST AT

2. S g dr &t

3. O o I T &

4. SId T QT A1 81

Correct Answer :-

. S HT GRS



25) SR § U g 3| 98 S1g 1@ B g HTH BT 3| T8 7Y BT AIg @ W I Ya& $T olg dleg UR ot
T €, 39 € 39 o @ it waiar 21 Sie w8, 3R 7 @ el €Y, ¥t gTerd A g ®1 SRR G ElaT ¢ o
QT W 7 WRT A g, @ ot SI1g 9 S| 91 @Teft 8, @ R $1 3B diul &7 (=01 39 a& Ugd
S| FEf §3 39 99 o9 WY 99 df 98 T fhast g qran 3! 9™ g @ 98 ot f, 98 o ) i
AT SR SR SRTH Y 9g14 I AIGH §1a1 81 IR I8 U Ig T S g1 91g &1 Hart a3t fo uar
Taar g for Bt Hieil &) agaraa e # weg T8 AR, afer waa & sradt 81 A1t R TWryifae & S
A e SI1aT 8 WR 59 U @Y Fed) 1 3R oo 8t el 8 | Ses Wil skt g i mm & W=l &
YATIH & $RUT FT 98 B JDS gRI? W I A1g BI 9P S I T94 BT JIY1-971 U 3| 98 8 & IR
SISt dt @relt 7 7 g1 | O el ), 99 IR 7 sl $gd § g H 9 g at ur e s afge) uet
R 8, g &1 qua = 8 wirar 31 79 A 987 w1 @) < SR oft ar &1 S € ¥§ S 949 98 Ui
fepa 76t S THW, I $ 3 ) I 79 TR gHA Fard N1, TN G0 $O 9 $S T a1y 39
IR | ISR FY el Hardar § MagHdar & JHY BTH ST

IUYe TRIR Y UgH 14 IR 7T UY BT IR Id133:
- 99TR $d Bdl &1 Bl I 91T 82

1. SIdl Sid @il gl |

2. 51§ Tl =it fhreht |

3. 919 U H A&7 WRT

4, 59 g7 @R B

Correct Answer :-

. O9FTH d W8T

26) Wﬁmm‘g%lﬁﬂ@mﬁﬂgmmélwwmw%wﬁﬁwmwm%wﬁ
TadT 8, 3% € 39 o1g @1 +ft waier 81 S w71, ok we wrel ), Tt grard H oG 3T SRR G ST 81 99
Qe W A WRT A g, A oft STg e S| 7 @redt 8, @ IR B smee diwl &1 s 39 9% ugh
S| FEl §3 39 99 o W 99 df 98 T fpast g+ qrar 3! 9™ g @ 98 ot f, 98 o §) i
A 31 3R SR $I 9 aTal AIGH a7 ¢ 1 R I8 9 oG $T SRR g1 91g $I HaR Iadt & v
Taar g for Bt Hieil &) agaraa o # weg T8 AR, 9y waa & sradt 81 A1t R TWryifae & s
T firer omaT @ WR 39 SfHT @1 el Y ok TR €1 et 81 Srs Wt sk e at W & w=f &
YATgH & HRUT FT 98 BT JDS gRI? W I Ag BI FPHS I T94 BT JIY1-A71 UM 2| 98 8 & IR
SISt <t @relt 7 7 g1 | T el ), 99 IR 7 el $gd § g H o g at urh e s anfge ) ue
R 8, g &1 que = 8 wimar 31 79 A @87 w1 91 < aeR oft ar &1 Sen € ¥§ S 949 98 Ui
fepa 8t S THM, I T 3 & M 79 TR gHA Fard N1, TN G0 $O 9 $S T=1 a1y 39
IR | ISR FY 3rTeh Hardar § Maawdr & JHY BTH ST

ITYe TRIR P TSP 19 IR 7Y Uy o7 IR Id133:
WH- IR & TG BT SRR H 3P TerdT 82
1. 99 4R 3R T @elt g R

2. G TH ¢ R

3. 9OR & Hd1d 81 R

4. T ART 3R 9 @M g1 R

Correct Answer :-

o O 4 AR HF @Rl R R



27) Wﬁwm‘g%laemgmaﬂmmm%mgwmw%w@ﬁwmwﬁ%wﬁ
a2, 39 € 39 w1 B W wafer ¥ 1 Sie W g1, 3R A wrelt €Y, ¥ grerd § ST BT SRR @A g1 2 | o
QT IR T W1 A g, ) ot g @ S| 94 @reft 3, @ IR 3 sheme Al ST R 39 9@ ugd
S| FEl §3 39 a9 o WY 99 df 98 T fpas! A=+ qrar 3! 9™ giar @ 98 ot f, 98 o §) i
A 41 3R SR $I g aTal AIGH a7 ¢ 1 TR I8 AG oG $T SRR g1 91g $I HaR Iadt & v
Taar ¢ & et Heil $t sgaraa s & geg 8 AR, sfer Taa & stadl 31 N R wrunfas & e
A firer omaT @ WR 39 SfET &1 el Y ok TR € et 81 S Wt sk St at W & =i &
YATIH & HRUT FT 98 B JDS gRII? W I Ag BI FAPS I g9 BT JIY1-A71 UM 2| 98 8 & IoR
SISt < @relt 7 7 g1 T el ), 99 IR 7 sl $gd § g H o g at urh e st anfge ) uet
R 8, g &1 que o 8 wimar 31 79 A @87 w1 91 < aeR oft ar &1 S € ¥§ S 949 98 Ui
fepa 8t S THM, I T 3 & M 79 TR gHA Fard N1, TN 0 $O 9 $S T=1 a1y 39
SRt ST B 3RTeH ParlaT 8 SMazadhdr & THT HTH AT

IUYe TRIIR P TSP 19 IR 7Y UY BT IR 9133
USH- IR B el pardar «ar 82

1. S{TIGh T & THY BTH ST

2. 3TUHT T G HRAT

3. 30 R g AT

4. 3T SIF HRAT

Correct Answer :-

. I HT & T HTH A

28) STOIR § U WIg | 98 TG 1@ B g HTH HIdl 8| T8 7Y BT AIg & W I YI& $T olg dleg R ot
a2, 30 € 39 wirg B W wafer ¥ 1 Sia W g, SR A wrelt €Y, ¥ grerd § ST BT SRR @A g1 2 | o
@relt W A WRT A g, @ ot STg e S| 7 @redt 8, @ IR B smee diwl a1 s 39 9% ugh
S| FEl §3 39 99 o WY 99 df 98 T fpast A=+ qrar 3! 9™ giar @ 98 ot f, 98 o §) i
A 41 3R IR $I 9¢H aTal AIGH §1dT ¢ 1 R I8 9q oG $T SRR g1 91g $I GaR Iadt & v
Taar ¢ & Bt Hieil 3t sgaraa s & geg T8 AR, sfer Taa & sradl 31 €t R wmrunfas & e
T firer omar 8 WR 399 SfET @1 el Y ok TR € ferdt 81 Sovs Wit SR St gl at W & w=f &
YATgH & HRUT FT 98 BT JDS gRI? W I Ag BI FAPHS I I9 BT JIY1-A71 UM 2| 98 8 & IoR
SISt <t @relt 7 7 g1 T el ), 99 IR 7 sl $gd § g H o g at urh e s anfge ) ue
iR 8, g &1 qua o g S 31 79 § A&7 WRT 81 ot gk ot ar &1 $ar € ¥§ 9| 99 98 Ui
faepa 12t ¢ TP, afh $© M= & I 99 IR gHA Fard g1, Fife g0 70 7 $° T Aty 39
IR | ISR FY 3Tl Hardar § Maaddr & JHY BTH ST

ITYe TRIIR Y USHR 19 IR 7Y UY BT IR 9133

TRH- IR & WTg A T8 BT HHeT-91 U HIH-1 82
1. O R} 81 O9 SR A ST

2. A @Il 81 I S8R A ST

3. foredt oft fRUfT & STSIR =1 ST

4. 9§ @rell g1 I STSIR ST

Correct Answer :-

« T Qe 81 99 SIoIR 7 ST



29) Wﬁwm‘g%laemgmaﬂmmm%mgwmw%w@ﬁwmwﬁ%wﬁ
a2, 390 € 39 wirg B W wafer ¥ 1 Sia W g, SR A wrelt €Y, ¥ grerd § STg BT SRR @A g1 2 | o
QT IR T W1 A g, ) ot g @ S| 94 @reft 3, @ IR 3 sReHe Al ST R 39 9@ ugd
S| FEl §3 39 a9 o WY 99 df 98 T fpast A=+ qran 3! 9™ giar @ 98 ot f, 98 o ) i
A 41 3R SR $I g aTaT AIGH a7 ¢ 1 TR I8 Aa oG $T SRR g1 91g $I HaR Iadt & v
Taar ¢ & et Heil $t sgaraa s # geg 8 AR, sfer Taa & stadl 31 i€t R wrwnfas & e
A firer omaT @ WR 39 SfET B el Y ok TR € et 81 S Wt sk St e at W & =i &
YATIH & HRUT FT 98 BT JDS gRI? W I Ag BI dPHS I I9 BT JIY1-A971 UM 2| 98 I8 & IoiR
St < @relt 7 7 g1 | T el ), 99 IR 7 sl $gd § g H o g at urh e s afge uet
R 8, g &1 que o 8 wimar 31 79 A @87 w1 91 < aeR oft ar &1 S € ¥§ S 949 98 Ui
fepa 8t S TH, I T 3 1 M 79 TR gHA Fard N1, TN 0 $O 9 $S T=1 a1y 39
SR | ST B 3RTeH ParlaT 8 SMazadar & THT ST AT

IUYT T B Ugh? 19 YD T Uy BT 3T 9a13:
UH- IR U Fard &1 g

1. Al qH S U SIS |

2. HIfp TH I T AH G|

3. Ffp THERT A I -Te) gl

4. FIfdh JWERI oId Wil g1 S|

Correct Answer :-

. Fifs TH I = ATH SRl

30) JI9IR ® UH WIg 8| 98 g 3T P G BTH HdT ¢ | 98 U HI 91g 8 W A gaP BT WIg alg W &
a2, 3 € 39 wirg B W wafer ¥ 1 Sie W g, SR A wrelt €Y, ¥ grerd § ST BT SRR @A g1 2 | o
Qe TR A WRT A g, @ oft STg e S| 7 @redt 8, @ IR B smee sl &1 A 39 9% ugh
S| FEl §3 39 99 o WY 99 df 98 T fpast A=+ qrar 3! 9™ gian @ 98 ot f, 98 o §) i
A W41 3R IR $I 9 aTal AIGH a7 ¢ 1 R I8 9a oG $T SRR g1 91g $I GaR Iadt & v
Taar ¢ & Bt Heil $t sgaraa s & geg 8 AR, sfer Taa & sradl 31 €t R wmrunfas B e
T firer omar 8 WR 399 SfET @1 el Y ok TR € ferdt 81 Sovs Wit SR St gl at W & w=f &
YATgH & HRUT FT 98 BT JDS gRI? W I Ag BI FAPHS I I9 BT JIY1-A71 UM 2| 98 8 & IoR
SISt dt @relt 7 7 g1 | T WTelt ), 99 IR 7 sl $gd § g H 9 g at urh e s afge ) uet
iR 8, g &1 qua o g S 31 79 § A&7 WRT 81 At gk ot ar &1 $ar € ¥§ 9| 99 98 Ui
faepa 12t ¢ TP, afp $© M= & I 99 IR gHA Fard g1, FifE G0 70 7 $° T Aty 39
IR | ISR FY 3Tl Hardar § Maaddr & JHY BTH ST

IUYe TRIIR Y USHR 19 IR 7Y Uy o7 IR Id133:
WH- STg BT R S+ U 71 Ul IadT 82

1. STOIR ® ST 61 918U

2. Tt il mgeh gt €

3. Tl it foelt 1 1 =181

4. 99 & U9 T €

Correct Answer :-

.« T3t i frd BH o1 T8



Topic:- Social Science (SSC)

1) FERA stands for . | BT BT qUf ¥4 Bl

1. Fraud Enforcement and Regulation Act / RISt yadH iR fafae sifdfam

2. Food and Environment Research Administration / Te] 3R TafaRul ST YR
3. Federal Emergency Relief Agency / Bed SRS XAl ot

4. Foreign Exchange Regulation Act / et g1 fafrge= sifdfran

Correct Answer :-

« Foreign Exchange Regulation Act / faggft e fafrge= sifafran

2) “Teaching History, Geography, Civics and Economics, etc. as separate subjects - only imparts
miscellaneous and unrelated information”, was said by:-

/ "sfaeTd, e, AR AR 3R = 3nfe Y remT-3rer fawat & wu ® uern daa fafay ok
JHETRIT JAABR UeTH FHaT 8", 7 gRT Fer T A: -

1. Secondary Education Commission / ATe&Hd fR1&m START
2. NCF 2005 / TTHIUH 2005

3. NPE 1986 / TTUTS 1986

4. Kothari Commission / B3R! SR

Correct Answer :-
e Secondary Education Commission / et e smam

3) A set of interrelated statements elaborating a learning material being taught is known as the
skill of:

/ UeTd! oA arelt fRgror Il w1 faga @ 38T AR Hdfta Hu=l @1 v Qe A BT SIRd dedand e
1. Explaining / IfdUTG=T IT SURSAT AT

2. Demonstrating / TR & BT
3. Questioning / YT B BT

4. Lecturing / SRS

Correct Answer :-

« Explaining / IfduTe a1 SR AT

4) Which following is the correct statement? / fafafea # ¥ $9 a1 HYF gt %?



i. Akbar founded his own religion known as ‘Din-i-ilahi’. / 3{®dX¥ 3 “ﬁ?—t{-gﬂ'lﬁ" P 98 I AT g
R o

ii. Akbar defeated Rana Pratap in the Battle of Haldighati in the year 1576. / 3FHax 1 a9 1576 H
geouTe! & g o 0T W1 1 ATl

iii. Tansen was the greatest musician of Akbar’s court. / AT PR & RAR & Gaq HeH
HiaeR A1

1. i only / Had ii
2.ionly/®ddi

3. All are correct. / IHl 981 5
4. iii only / had ii

Correct Answer :-

o All are correct. /Hﬁ‘v‘lﬁ%l

5) Which King was the author of Ratnawali, Nagananda, Priyadarsika?

/ B A IS IATael, AT, raeRier & dae a2
1. Ashoka / 3<%
2. Chandragupta IT / I 11

3. Harsha /8%
4. Samudragupta / W

Correct Answer :-
e Harsha/ B'Ef

6) Which Article of the Constitution states that, "The state shall take steps to organize village
panchayats and endow them with such powers and authority as may be necessary to enable
them to function as units of self-government”? /

Ty & fra srgsde o w1 a1 8 fF, “Isu U vardl Y SIafRid $31 & R Hen IoTE iR 37
A wfear iR SfIPR UeH HY1 Wil 32 R B SPISTl & U § S $I4 A J&H 91 & o
3TaTgP §I"?

1.42

2. 38

3.32

4. 40

Correct Answer :-

. 40



7) Which one is the text not written by Abul Fazl? / 98 &I 91 34 8 Sl 3/gd Bold A Hg! forar 8?2
1. Akbar Nama / 3{haR MHI

2. Ruqaat / ®&Td

3. Tabagat-i-Akbari / J9HTd-U-3HaR]

4. Insha-i-Abu’l Fazl / $RIT-T-3{gd ol

Correct Answer :-

» Tabagat-i-Akbari / TIHTd-U-HER]

8) Which among the following is the correct location of the Tropical Forest Research Institute
(TFRI)? /

fFrafafaa 3 ¥ 19 a1 Swisfeddta a7 U T (TFRI) BT I RIH 8?2
1. Bhopal / HiUTd

2. Jodhpur / SYQR

3. Jabalpur / SI§cigR

4. Dehradun/ a_e'?'l'cff

Correct Answer :-

« Jabalpur / SI§cIqR

9) Match the following Neoclithic site:

1. Daojali Hading | A.Baluchistan

2. Mundigak B._Bihar

3. Rana Ghundai | C. Morth kachhar hills Assam
4. Chirand D. Afghanistan

| FFafeEa saummer Taer &1 Fere &3

1. grafietell gfSar | AL delfedr

2. FHSEMH B. TR

3. TOT 5 C. 3ccR HOR TEisal
HEA

4. g D. Gl

1. 1-B,2-C,3-D,4-A
2. 1-B,2-A,3-C,4-D
3. 1-A,2-D,3-C,4-B

4.1-C2-D,3-A,4-B



Correct Answer :-

« 1-C2-D,3-A4-B

10) Which of the following country is not considered a rigid constitution? /
Frafafed o 9 foa 3 o1 o SR Sfaur 78 711 wrar g2

1. Australia / 3fReferan

2. Britain / fseq

3. Switzerland / f&aeoRd

4. USA / 3HRepT

Correct Answer :-

o Britain / fyeq

11) The most staggering problem in our educational system on an all India basis is: /
Ul YRA & MR R FURY g yorrelt & e siftres aieT 3 arelt aww 8:
1. Lack of funds / & &1 &l

2. Lack of schools / %Gl & B!
3. Drop outs / 14 313<

4. Stagnation / 3{HHUT

Correct Answer :-

« Drop outs / S0 313¢

12) The study of the origin and development of human being and their culture is known as:

/ TS0 o1 Ity iR fadT iR S99t "pfa & srema o1 HgT ST gl

1. Archaeology / QRTdcd

2. Sociology / THISIRITXA
3. Anthropology / ﬂﬁﬂ"x’ﬂﬁm:ﬁaﬁﬂ
4. History / BGER

Correct Answer :-

« Anthropology / HT-aRId AT a3



13) The main purpose of criterion-reference evaluation is: / qﬁﬁ@'-ﬁa’ﬁ‘q@‘iﬁ Ca R CE?] 3?{51\‘1

@
1. Determination of ranking of the student / ®T & HARD BT YR

2. Assessment based on predetermined objectives / qg:fﬁa A Sl & YR W HTHTA
3. Assessment of attainment of group performance / JHg TR &1 W &7 e

4. Assessment of the skill performance of an individual / fF & PR TR o7 ha

Correct Answer :-

« Assessment based on predetermined objectives / q@fﬁa XA Sl & SMYR W HTHTA

14) Classical pattern of education is called ./ PRrem * 3Py U &I Dol SIIdl
?

1. Trivium / SIfaaq

2. Rhetoric / 9Tfecd RS

3. Quadrivium / S l-IJCY
4. Dialetic / GgIH® AhUGId

Correct Answer :-

« Trivium / <Ifaag

15) Who among the following is the author of ‘Politics’? / fFraferfaa # @ #19 uifafesw &
AP §?

1. Rousseau / =41
2. Plato / @el
3. Aristotle / 3IR¥J

4, Socrates / HhId

Correct Answer :-

« Aristotle / 3X¥

16) Who is known for initiating electoral reforms in India to ensure free and fair elections? /
oA 3R Freaer g9ma gRAfea #3189 URa & g1 YR = 1 & T S5 =1 Sivan 32
1. N. Gopalaswami / T. TiuTereard!

2. T. N. Seshan / &). T, 999



3. S. Y. Quraishi / T9. 915, H=ft
4. M. S. Gill / tq. ¢9. it

Correct Answer :-

« T.N. Seshan /&, . v

17) According to Seligman ‘Geography’ is included in: / AfeFAT & IFER e e o
B %:

1. Semi social science / 31¢f AT G

2. Social studies / QTS &I

3. Pure social science / g ATHTSTD (a3

4. Science with social implication / ngﬁ ICEIC

Correct Answer :-

« Science with social implication / 1o dred Yad fam

18) The social and co-operative expression of thoughts and ideas in the class, which is
concerned as a miniature society and shared environment, this method is known as:

/ e | faary 3R el &) "rfore iR Jear! sifireafa, ot ue oy JuTeT Sl |ars
TafaRur & & q § "afta g, 98 faft sgard! 3:

1. Problem solving method / THXT HIYUTT fafer

2. Project method / Ui fafey

3. Socialized recitation method / GHTSIp aifa® 3frgft fafdy Tagiepd ure fafd
4. Discussion method / IR fafdy

Correct Answer :-

 Socialized recitation method / 1\-'I'JZI'IGﬂW ElIRCEY G‘I'IT{R'I fafdy “v'l'{&ﬂ% & fafd

19) The concept of Public Interest Litigation (PIL) was introducedby ./
Sfed aTfaeT (Fesud) #1 3@URUT_ gRTXRE &1 T8 At

1. Justice Sarv Mittra Sikri / =aradfd d i <t

2. Justice P.N. Bhagwati / W’{ﬁﬁ T, WTgat

3. Justice H. J. Kania / OaHfd Ta. 1. Hi=an

4. Justice Sudhi Ranjan Das / <raHfd geft o4 g



Correct Answer :-

« Justice PN. Bhagwati / <Iodfd O, T, Hract

20) The technique which is often used by all teachers for transacting skills, ideas, attitude
and processes among students is called as i

BE H Pivrd, fIaRY, =@ iR uftharsi &1 a9-39 ®1 & fou /R it Rrare) gRT SuahT &t
S gTell db-e Bl HET AT 2l

1. Activity-based teaching / TTfafafdr smerfed Rgmr
2. Projective technique / T&Ut adh-id
3. Lecturing / SORAT

4, Demonstration / UGRI[-

Correct Answer :-

« Demonstration / UgR[H

21) Which of the following is the technique of collecting all the necessary information about
a child with a view to studying and solving his deep-rooted problem? /Frafafeadw e
T T B TG HHT BT AT HI 9 3 6 B $1 P A SHP IR H FH sraasp
ISR THd H B a51D 872

1. Experimental study / TR 3{eqa=
2. Case study/av_HE\SDI
3. Qualitative study / TUITHD I

4. Quasi experimental study / 3{¢f TINTTE® 3reqa

Correct Answer :-

« Case study / ME@

22) Which among the following is not a function of evaluation? / FrafeIfaa A ST
i BT TP HTA 61 82

1. It helps to study the entry behaviour of the children in all aspects. / g 4t q%ﬁ\’}ﬁ o &=l b Uaxl
AER PT 3T B3 H A HRdl 5 |

2. It helps to undertake special instructional programs. / Ig S@QIW HTHH = - U TUaq
RG]

3. It helps to assess different educational practices. / dg faf¥= Tﬁﬁz@ 3T BT TH A B H AGG
HIAT G|



4. It does not provide for individualization of instruction. / I8 ﬁlﬁ'—‘ﬂ & Jufaasor & ﬁm Tald q_sﬁ
IRATRI

Correct Answer :-

« It does not provide for individualization of instruction. / g EIéSZI & IGfFIPIO B f%ﬂ;f Tald :Tézf
HIAT G|

23) Which among the following models of teaching belongs to Social Interaction Family?
/ FRreror & Frafefed afommet § @ o9 wmiee agurfiar uRar 3 Safta 82

1. Concept attainment model / Hb T PlIESEIGEIR]

2. Jurisprudential model / =T R YfaH

3. Non-directive teaching model / & Rd e ufaws

4, Advanced organizer model / 3¥d 3T Ulrd=

Correct Answer :-

« Jurisprudential model / <1 RTXd gfaq=

24) What is the full form of SEZ? / A% (SEZ) &1 YUl U F4T1 8?2
1. Special Education Zone / o=y fRre & (W= Q@QF[ )

2. Special Economic Zone / fa=iy onfdfes &= (TS D HIHD AF)
3. Special Equity Zone / fa=Iv sfect & (U=Ta st o)

4. Special Equal Zone / ORI ga= &= (@W Hhd \_rﬁ:l)

Correct Answer :-

e Special Economic Zone / fagy snfifes & (‘v'a'-‘ZIFT ECARIIECE \_rhzl)

25) Under whose rule Turkan-i-Chihalgani was introduced?
/ gPTF-U-agaT! fHad I & d8d & 31 1S A2

1. Tltutmish / Seqaferr
2. Razia Sultan / ST Ged

3. Balban / dddd

4. Qutub ud din / a9 3¢ ¢

Correct Answer :-

o Iitutmish / Seqair



26) Which Vijayanagar ruler adopted the title of 'Gajabetekara (the elephant hunter)'?
| T fasaTR e A Teide s @Al &1 RIeRY) Y Surfy yRor $1?

1. Bukka / gdhl

2. Deva Raya | /A1

3. Deva Raya I/ @ T 11

4. Krishna Dev Raya / I CCRI)

Correct Answer :-
« Deva Raya Il /a1

27) Which of the following is found in the earth’s core? / f18 & 9 G} & ®R (@=Ig YFT) & 1 UrAm
ST 82

1. Magnesium / iRy
2. Ferrous / B3y
3. Silica / fferaT

4. Aluminum / THIATH

Correct Answer :-

« Ferrous / B¥d

28) Which of the following paradigm followed the Quantitative revolution in the evolution of
geographical though? /

fFrafafea ¥ A fFa afawm F Vi faers & aenrers wifa o1 s fear?
1. Regional Analysis / &= fazayor

2. Areal differentiation / &1 fandeur

3. Post Modernism / TR 3TfAdbararg

4. Exploration and description / 3f-HT 3R faaRor

Correct Answer :-

+ Post Modernism / 3tR YFAwdrdig

29) Which ruler introduced the price reforms in the market? / s 9@ 9 IR & g '\ﬁ%lﬁ C4|
AT DI?

1. Allauddin Khilji / 338 Racrsit



2. Firoz Shah Tughlaq / fhRIS 2178 et
3. Mohammad Bin Tughlaq / AW [ qidd

4, Balban / ddfd

Correct Answer :-

« Allauddin Khilji / 3{el3g 1 Racreit

30) Which animal is engraved on Harappan seals? / §SWI E4| 'ﬂ?ﬁ TR {5 SHaR & Seivl fHar T

?
1. Goat / &I
2. Horse/‘EhST

3. Unicorn/ 3®RAT (1)

4, Cow /T

Correct Answer :-

« Unicorn/ BRI (FAHBI)

31) Which Constitutional Amendment introduced Right to Education as a Fundamental Right? /

fra e S=nue A Rign & ifteR o wifee sifteR & & & o fear
1. ggth

2. 84

3. 860

4. 81%

Correct Answer :-

. 86t

32) Which text is not written by Kalidasa? / STfergRT A S 1 34 Tl foran 872

1. Meghadutam / ﬁ‘ﬂ@?‘l’q
2. Malvikagnimitram / ATQIAeBTRITHH

3. Mrichchakatika / Je5hic
4. Shakuntalam / _TpdaH

Correct Answer :-

« Mrichchakatika / a8 icHhH



33) NABARD was introduced in S HwRyTiue foar A
1. 1972
2. 1982
3. 1988

4. 1990

Correct Answer :-

34) _  Government has the power to legislate on ‘residuary’ subjects. /
WHR & IR '3aRry fawal R S 991 $t i 21

1. Local / ®IHI

2. Unitary / Qﬂﬁﬂ

3. Union / ¥9

4, State / IIsY

Correct Answer :-

e Union /99

35) is an institutional mechanism to provide representation to the states of India. /
U 9XRINTd 97 g S YRd P 3541 B ufaf iR ueq sar gl

1. Rajya Sabha / ISG9HI

2. State Legislative Assembly / T faumgun

3. State Legislative Council / Id fag uRkeg

4. Vidhan Sabha / faemaHT

Correct Answer :-
 Rajya Sabha / JSTIHT

36) is a process by which the government sells their assets and hand over the management
to the private sector. /

T Ufhal g o gRT TR =it Hufty Sl § MR yeed &1 Aol 8 o S 3 g1
1. Privatisation / fofie<ur



2. Liberalisation / JeRIHIU
3. Public-private partnership / BICSIREARSIRIRIEAR
4. Disinvestment / fafaaw

Correct Answer :-

e Disinvestment / fafa=r

37) means the price of product increases but the value of the product decreases. /
PT HAAT § [P IAUIG P! P T¢ Tl 8 AP IS HT Yo Ue AT 3 |

1. Corruption / YFRIR

2. Inflation / &I
3. Hoarding / STH GR

4. Minimum Support Price / <g7ad TH g4

Correct Answer :-

« Inflation / GBI

38) Vedas are also known as : / 3¢I & gg Ht &gT 94T &
1. Smriti/@lﬁ

2. Nirukta / e

3. Shruti / gfd

4. Kalpa /4

Correct Answer :-
o Shruti / %fd

39) Who among the following is known as “the Architect of Indian Planning”? /
Frafafea & 3 5 “URd Ao & IRgSR” & T | ST o141 82

1. Prasanta Chandra Mahalanobis / URIT-d I HeTa-iayg

2.V V Giri / dl dt it

3. VK R V Rao / dl & 3R dl 3@

4. R C Desai / 3R ¥ 41

Correct Answer :-

e Prasanta Chandra Mahalanobis / URITd d<x ﬂ'{u"l?*ltﬁﬁﬂ



40) Who delivered the famous speech "Tryst with Destiny" to the Indian Constituent Assembly? /
YR Adfaem gyt & uikieg yrwor +feve fag sfeei fram faar?

1. K. M. Munshi / &.T9. Gzt

2. Somnath Lahiri / GrHATY ?IT%@T

3. Jawaharlal Nehru / STaTgx @1 18®

4. Sarojini Naidu / SRISFH! 1Ig

Correct Answer :-

« Jawaharlal Nehru / STaTgR @1 g

41) Who was the first Governor General of India? / HIRd & Ugd Ta-R o= d B A?
1. Warren Hastings / arAa %@"H

2. William Bentinck / faferan Sfew

3. Robert Clive / J(a¢ aamzd

4. Lord Cornwallis / @18 ®i-aTierd

Correct Answer :-

« William Bentinck / faferam sfes

42) Who had started the magazine Jugantar? / Q=R (S[TiaR) ST &1 IR=3MTd foa ot A2
1. Veer Sarvarkar / R HTaRhR

2. Bhagat Singh / H7Td g

3. B G Tilak / ot Sff ficie

4. Aurobindo Ghosh / 3Rfd< 91y

Correct Answer :-

« Aurobindo Ghosh / 3Rfdg 9%

43) Who supplies coins in India? / HRd # Rig®i ot Gﬂ'{ﬁ P HIAT ?
1. Security Exchange Board of India / YR ‘;Iﬁﬁﬂ?l fafmaae

2. Commerce and Industry Ministry / IO 3R IR HATT

3. Ministry of Finance / fa< #ierq

4. Reserve Bank of India / YR oid d



Correct Answer :-
« Ministry of Finance / fo<i T=ierd

44) The transfer of ownership, property or business from the government to the private sector is
termed as .

PR A froft &= # Wi, wuftr a1 sgawma & gwaiaro a1 SR 3|
1. Nationalization / T@W

2. Globalization / d8f{&Rur

3. Privatisation / fASiie0T

4. Liberalization / SGRIBRUT

Correct Answer :-

e Privatisation / ool

45) The correct concept of evaluation reflects in: / JedTd - P Tgl srayrRun g # ufvaféea gidt

1. Diagnostic Evaluation + Formative Evaluation / A1 Jedidh + TaT® Hedid-

2. Summation Evaluation + Measurement / JTT&d Heih + HIY
3. Measurement + Judgement / ATJ + fufg

4. Tests + Examinations / qﬂ&@ TR ifall

Correct Answer :-
e Measurement + Judgement / HIY + fAufg

46) The Social Science which draws its information from both natural sciences and social sciences is:
/ rvTfore fagm it wiefae fagma ik Jrfore fagm 9 & sru-it ST Y Ut &=ar 3:

1. Geography / H:"ﬁ?l

2. Civics / TR TR

3. History / S8/
4, Political Science / IS fagm=

Correct Answer :-

e Geography / ﬂfﬂﬁ

47) The term “laissez-faire” means ./ Usq A " (SrdY T-ﬁﬁ) Cai szf% |



1. Less government intervention / HH BRI W{%‘C{
2. Less market intervention / %H SGIR Bﬁ&}fq
3. More market intervention / 3HfYPH TR BW?RU

4. More government intervention / HfIH PRI g&T

Correct Answer :-
+ Less government intervention / & TR&BRY gIag

48) The Great Bath structure was discovered in which city of Indus Valley Civilization? / JecATHRIIR
(fa=mer W TeR) @1 @ Rig ardt avaar & fea g d g8 ar

1. Mohenjodaro / Higol 36;_ |
2. Lothal / &iyd
3. Harappa /gS™I

4. Dholavira / YIdER

Correct Answer :-

» Mohenjodaro / Higoige!

49) Seasonal unemployment is a characteristic feature of ./ T} SRR Cd|
% faRivan 31

1. Agriculture / $¥
2. Service / Jdl
3. Manufacturing / fafmfor

4. Industry / ST

Correct Answer :-

o Agriculture / ?ﬁf

50) When was the Constitution of India adopted? / YRd & AU B H SUHTAT T UT?
1. 26™ January, 1951 / 26 SH&RY,1951

2. 26" January, 1950 / 26 SFE,1950

3. 26" November, 1949 / 26 &R, 1949

4. 26" November, 1948 / 26 TdeR, 1948

Correct Answer :-



« 26 November, 1949 / 26 F8dR,1949

51) Green Belt Movement is an environmental non-governmental organization. Focused
on afforestation. Who initiated this movement? /

WA e 3G TP Yaiaruiy R-IRHRY WIS 21 5 fF a-ev W) Hiad 1 59 siigiad &1
o1 fraa 312

1. Shirin Ebadi / R Tardl
2. Wangari Mathai / 3R} 71§
3. Helena Norberg / o1 ARaT

4. Winona La Duke / o<1 a1 &%

Correct Answer :-

« Wangari Mathai / &Rt 7UTS

52) CANCELLED

Which ruler was the first to defeat Muhammad Ghori?
/ GETIS TR} P URTFOTd B aTelT Ugell [MRID DI UT?
1. Prithviraj Chauhan I1T / QRS EIE] qara

2. Prithviraj Chauhan II/ q%ﬂ?ﬁf EﬁEFT @?ﬁu

3. Prithviraj Chauhan I/ GRS 9gH

4. Jaichand / SIOd—<

Correct Answer :-

o Jaichand / SIOd<

53) CANCELLED

How long did the Challenger Expedition last? / 9aoR = foraw wag a gar?
1. Four years / aR ¥

2. Five years / uia a9

3. 18 months / 18 AeH

4, two years / aray

Correct Answer :-

» Four years / IR Iy



54) CANCELLED

Which among the following country is also known as the last remnant of the former Papal
States? [

Frafifaa 3 & f5a 3w o gd 9ua e & sifow sadiv & wu & off s s 82
1. San Marino / 3 31

2. Vatican City / af¢a Rict

3. Monaco / HIFTe!

4. Malta / HIeeT

Correct Answer :-

« Vatican City / af¢e Rt

55) Which ruler was described by Sir Huge Rose as ‘the best and bravest military leader of
the rebel’?

| TR g gRT {53 Ie 1 'fagidt &1 9oy ok 9ad 981ge 9= a1’ & «u § afofa fasar ur?
1. Begum Hazrat Mahal / ST gRd #gd

2. Rani Laxmi Bai /I @&t a5

3. Bahadur Shah Zafar / S8TgR 2118 ST

4. Kunwar Singh/ &R g

Correct Answer :-

« Rani Laxmi Bai /It d&xt a5

56) Cape Agulhas makes the dividing point between which of the two oceans? /
&Y Waw 51 &Y TRl & &g fyure fag aman 82

1. The Arctic Ocean and the Atlantic Ocean / 3Tdfe® HETIFR 3R 3fcdifcds HERITR

2. The Atlantic Ocean and the Indian Ocean / 3fcdified HEMFR 3R fgg HEMFR

3. The Pacific Ocean and the Atlantic Ocean / URIid HERITR 3R 3fedifed HERNR

4. The Indian Ocean and the Pacific Ocean / fgg TERITR 3R =1 HERITR

Correct Answer :-

o The Atlantic Ocean and the Indian Ocean / 3fcdified L RIRSIRIEY 3R %‘c{ HeHTR

57) Which is the largest fresh water lake in the world by volume of water?/



o U F e A g ) e s a v F sha e @ R
1. Lake Michigan / TR gfie

2. Lake Malawi / ATdTdl Sitel

3. Lake Baikal / S&Td 3idl

4. Great Bear Lake / I¢ 9%R 3itd

Correct Answer :-

o Lake Baikal / 9bTd fl@l

58) In which of the following seasons, brief squalls and thunderstorms known as

Kalbaisakhi, or Nor’westers, often occur? / fAuafef@d # @ fea Muw d, Fradard ar TRkawed &
Y H 9H 9F 91d SIS T 3R 3rieht, sraw 3t vt 82

1. Early winter / YR=3MTclt dfeal &
2. Early summer / o3Il it o
3. Rainy Season / STR=1 & AgqH o
4. Late winter / 91¢ &1 aféal §

Correct Answer :-

« Early summer / [&3MTch TTiHai &

59) Which among the following country is considered to be the Origin of Coffee Plant? /
Frufafea & 9 f5a ¢ o HIet & N ST ¥ 7= S 82

1. Vietnam / fagd=m
2. Peru /O

3. Ethiopia / i
4. Brazil / sT6fi@

Correct Answer :-

« Ethiopia / it

60) Who helped in taking transformative steps in India’s foreign policy and persisted in
making peace with Pakistan emphasizing that a state can choose its friends but not its
neighbors? /

fra WRa @1 fagw ifa & uRadaeR $ed IoH & Feradr 3t 3R UIfhwd & I1Y Wifd 918 3@
TR SR ¢d §U FeT fb T I 31UA SRl &1 g Tl @ Afp=1 3= usiRyal &t 1812

1. V.P. Singh / dt.dt. Rig



2. LK. Gujral / &ﬂ'stﬁ.w
3. L.K.Advani / Td@. &. 3{rsaruft

4. Atal Bihari Vajpayee / 3¢ fogRY areadt

Correct Answer :-

« Atal Bihari Vajpayee / 3/cd fogRY areadt



